FAH 2 AR e FREARLF 122 % £ (10T F E R)KR L 7)EE

39800 A 2 800 2 ¢ mRe A A

B &3+ 2800 2 AF(H 13454 %)

12 |[(01)102 3= O4_|(02)102 3= O%= ((03)102 O ((04)104 2 Oz | (05)104 £ O
> 5 3.49.45 B 3.45.73 3.40. 29 2.57.91

7 =% ] RiE % &

1 % (06104 F O4= |(07)105 5O |(08)105 #O% ((09)108 77O | (100108 = O

2% 3.18.35 3.49. 22 3.41.57 4.18. 49 3.49. 86
RN 4

1 & (1108 Oz ((12)110 2 OF |(13)111 #O3

=+ 5 4.00.59 3.14. 28 3.13.00

7 3 2

F- 7328002 A AF (X 18456 %)

2 e (01)101 £ O |(02)101 & O% ((03)101 & Ot |(04)102 £ Opz | (05102 52 O

& 2.47.72 3.16. 26 2.46.48 2.45. 08 2.59. 94
A 6 10 4 3 8

7= 5 4

22 [(06)102HO% (07104 FOF ((08)104 ¥ OF (09107 ¥ O | (100107 £ O
& 3.03. 61 2.46. 92 2.49. 61 2.34.46 2.39.83
A 9 5 7 1 2

4% 6 | 3

3 & (01)107 2 O~ (02108 % O |[(03)108 % OF |(04)108 %O | (05)109 2 O

&
S

2.99. 61 3.26.79 Hal 3.04.00 3.25.22

KRN 3 T 4 6

e
1
-

ki (060109 #O % |(07)110 O |(08)110 32 Ost

o | w

2.96. 17 3.09.59 2. 38. 30

e

= 2 ) 1

2

e
1
e

1 107 BEEE 1 Bi-2RKENS-HEE




FAH 2 AR e FREARL 122 % £ (107 F & R)KR L 7)EF

39800 A 2 800 & ¢ A 4

B B FEB0 R AF (B E6AE20) (2141 E)

4 = (01)201 2 OF ((02)203 B O%e ((03)209 OF |(04)209 O | (05210 O ¥

=5 Gl 3.48. 27 3.38.73 4.20. 30 3.38. 22

2 % 2 |

4 & (06)210 20O % |(07)310 % OE’%E

N 3.49.5H2 4.08. 63

AN 1

952800 2% K (E 15454 %)

5 (01)201 21O |(02)201 ggO 2 [(03)202 3O ((04)202 2 O | (05)203 &= Ok

N 2.45. 37 2.46.90 3.18.50 3.51.98 3.39. 40
VAN RN 3 4 6 8 7

5 & (06)205 Oty |(07)205 % Ox8 (08)206 £ O2

N 2.44. 60 3.10. 46 2.35. 36
AR 2 5) 1

AN 2

6 (0207 ¥ O (02)207 £ O= |(03)207 e O~ [(04)208 * O.Z | (05)209 ﬁ‘OJéT]

N X 2.43. 32 3.23.02 3.07.89 2.43.09
AN R 3 5) 4 2

(AN 4 3

6 = (06)211 é#O/ii“ (07211 =#O%

& 2.32.27 3.29.76
AR 1 6

2 % | Fei8 & 4

B9 328002 AF(E5AB2 %)

T (01)307 ¥ O45 |(02)308 57O % [(03)309 ‘ZrEQI'a‘?J (04)310 O£ | (05)306 ﬁ‘O'}%‘

w4 2.37.40 2.35.57 2.56. 46 2.37.04 2.957.91
VA AN 3 1 4 2 5)

Z =% | 2

2 107 BEEE 1 BH-REDS-EEA




